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        Value    /12 pts

Theories of Crime and Deviance 3
Outcome: 4.2 Investigate deviance as a form of social behavior and apply appropriate theories to the concept of deviance.
Match each of the criminal’s situation to the theory that fits best. Explain why this theory fits
this criminal. There are six theories and six scenarios. Each theory is used only once.


Theories: Basic Insight Theory, Social Bond Theory, Opportunity Theory, Differential

  Association Theory, Containment Theory, and Merton’s Strain Theory.

A.  Billy had the best family in the world. That’s why he wasn’t tempted to steal the 

 chocolate bar from the store. Instead he asked his mother to buy it for him.
 2 pts

Theory and reason why this theory fits:

B. Crystal was “BAD” from the day she was born. Her parents always tried to steer her into the right direction but that didn’t stop her from robbing the gas station.

2 pts 

Theory and reason why this theory fits:

C. Billy Bob knew that his knew friends were bad news. It made him feel right at home when they began breaking into cottages along the lake. 




2 pts

Theory and reason why this theory fits:

D. The North end of the city was getting fed up with all of the prostitutes hanging around their

street corners. It was bringing a negative image to their community. Something had to be done to stop this form of deviance so they all signed petitions and held a meeting.
2 pts

Theory and reason why this theory fits:

E. 
Hannibal was a recluse. He hated everybody and everything. His hobby was building bombs which he planned to use throughout the city.





2 pts

Theory and reason why this theory fits:

F.
As Mila walked down the street she realized that she didn’t have any money for the bus. She had to catch the next bus in order to get to work on time. She saw a man in a business suit who also stopped at the bus stop. Embarrassed, she asked him for bus fare.
 2 pts

Theory and reason why this theory fits:

